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綠建築指標評估資料 



1F 13F
( )

 

 

13F
 

 

2012



 

CO2

2

( )

( )

4 13



13F4F



( )

1. CO2 =101,635 kg

2. 209,268kg

3.   
(1) 1m

1.5m
(2) 50
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Gi Ai Gi×Ai

3.5m
1.0m

1200

1.0m 900 65 58338

1.0m 600 112 67200

1.0m 400
0.5m

( 4 )
300 116.27 34881

0.5m 100

0.3m 20 27.78 556

30cm 20 900
600

�������160975

�

��	
�   
���
�
�
����� ra=

ra=1.0 

��1.3 

TCO2

TCO2�����������������
TCO2=209268 
_

TCO2C

TCO2 c=1.5���
������� A’=(A0-Ap)×(1- r) A’ 0.15×A0

A’=0.15 A0 r= r= Ap
� CO2 [kg/ ]  

TCO2c=101635
_

RS2=6.81× (TCO2- TCO2c)/TCO2c +1.5=8.72 (0.0 RS2 9.0) 



( )

10-5m/s CL f=10-7 

m/s



( )

c=0.18
=0.62
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f
=_ k= 10 _ m/s

t= 86400 (s) f= 10 _ m/s

Qi

Q1 (m2) 32.4 0.28

Q2 (m2) 50 0.84
(m) 0.25

Q3 (m3) 6.88 0.12

Q4 (m2) 

(m3) 

Q5
m2 7 5.66m3 7

Q6
(m)

�
Q7 n

Q8
(m)

a

Qn

���� 6.9

�

��� iQQ =_
Q0=A0 f t=_

��
0

'
Q
Q =0.62

��
����
5×(1.0-r) r= r=
r 0.85  r=0.85 

���0.18

RS3=4.0× ��-������� +1.5=9 (0.0 RS3 9.0) 



 

( )

1.
H 70~80

2.
Gri 0.3~0.6

3.

4.

Ui
0.7W/ K

5.
(1)

(2)
1/2

1/4

 
 





( ) 

1 3 50USRT
1 3

1. 50USRT

2.  1 1 3

3. COP 3 EER 2.8
EER 2.9 3.7



( )

1.
LCD

T5 100W
AFi AFp

T5 LED

2.

LED
ASHRAE/IESNA Standard 90.1-2004 

80%
50% LED green 

530nm 520~550nm

( )

1.

2. 6mm U 4.1W/m2K

3.

4. 50%

LED
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A
1. HWs= HWsc=
2. Gri= 0.25 i=1~n
3. Ur=0.64 1.0(w/m k)
4. Uw=2.75 3.5(w/m k)
5. Uaf=3.29 5.5(w/m k)
6. EEV=EV/EVc= / = EEVc=0.8

RS41=ei× (0.80-EEV)/0.80 +2.0=2 (0.0 RS41 9.0)
e1 =10.0 e2=15.0

RS42=4.0 (3.0-Uaw)=2.19 (0.0 RS42 4.0)

RS43=2.0 (5.5-Uaf)=3.19 (0.0 RS43 4.0) 

B EAC
B1 (

Afc’=�m²)
1.

Ar’=� Ar”=�
EAC=0.8-(0.4 Ar’ + 0.2 Ar”)=� EACc=0.8

2.
EAC=0.8 EACc=0.8

RS44’=10.0 (0.80-EAC)/0.80 1.5=� (0.0 RS44’ 6.0) 

B2 ( ) 
Afc”= �m² = �RT

a1=PRs=�
��HCi×COPci)= � ��HCi×COPi)= �

c1=Rs=�
b1���HCi×COPci)/��HCi×COPi)= �

a2=PRf=� b2�������/�������� c3=Rf=�

a3=PRp=� �!��(PPi����PPci)=� c4=Rp=�

a4=PRt=� �"����#������#����� c5=Rt=�

EAC={a1×b1×c1+a2×b2×c2+a3×b3×c3+a4×b4×c4}×c5=� 0.8

RS44’’=10.0× (0.80-EAC)/0.80 +1.5=� (0.0 RS44” 6.0) 

RS44=(RS44’×Afc’+RS44”×Afc”)÷(Afc’+Afc”)=1.5 (0.0 RS44 6.0) 
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C EL
1. Afi’=�m² Afi”=�m²

RS45’=1.0
2. RS45” :
IER= IDR= �	� �$� �"�
EL=IER×IDR×(1.0-�	-�$-�"��� ELc=0.7      

RS45”=7.00× (0.70-EL)/0.70 +1.0= (0.0 RS435” 5.0) 

RS45=(1.0× Afi’+RS43”×Afi”)÷(Afi’+Afi”)=1.5 (0.0 RS45 5.0) 

D
Eq1=0.5 Eq2=2.0 Eq3=0.5
U1=100% U2=100% U3=100%

RS46= (Eqi Ui)=3.87 (0.0 RS46 4.0) 

RS41=ei× (0.80-EEV)/0.80 +2.0=2 (0.0 RS41 9.0) 

RS42=4.0 (3.0-Uaw)=2.19 (0.0 RS42 4.0)

RS43=2.0 (5.5-Uaf)=3.19 (0.0 RS43 4.0) 

RS44=(RS44’×Afc’+RS44”×Afc”)÷(Afc’+Afc”)=1.5 (0.0 RS44 6.0)

S45=(1.0× Afi’+RS43”×Afi”)÷(Afi’+Afi”)= 1.5 (0.0 RS45 5.0) 

RS46= (Eqi Ui)=3 (0.0 RS46 4.0) 



CO2  

CO2

( ) 21

1 fa=1.0

2 b=2336/514=4.54<5 fb=1.0

3 fe=1.0

4 g=0.48<0.75 fg=1.1

5 a 1.5m fh=1.0

6 i=0.92 0.7 fi=1.0

7 j=5.43 4<j 6 fj=1.05
F=1.0 1.0 1.0 1.1 1.0 1.0 1.05=1.16

( )

1.
RC

6F-7F       17F-18F
  



100%
CO2

W 0.85

2.

3.

CO2

0.66



 

EEWH-BC            2012

Sr( )=�
CCO2=0.82 0.5×Sr=�

CO2

A F                         D D 
fi

1. a 1 

2. b b= 1
3. e e= 1
4. g g= 1.1
5. h h= 1
6. i i= 1
7. j j= 1.05

F f1×f2×f3×f4×f5×f6×f7 F 1.2 1.16
 

di
d1
d2
d3

d4
d5 0.03

d6 0.03
d7 0.5

d8
D �&� D 0.2 0.1

B W 
Wi ri
1 100%

-0.1 100%

W4

RC SRC

*���;���� W 0.7 0.9

C R 

(Xi) 100% 100%
CO2 (Zi) CCR×0.12 CSER×0.05 0.05 0.05 0.05 0.10 -

(Yi) 3.0 6.0 6.0 6.0 6.0 6.0 6.0
Xi × Zi × Yi = 0.34

R=�Xi×Zi×Yi R 0.3 0.3

CO2 CCO2=F×W×(1-D)×(1-R)=0. 66

RS5=19.40× (0.82-CCO2)/0.82 +1.5=5.38    (0.0 RS5 9.0) 



 

1.

2.
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Mr(m3) 0.65 AF( )
M(m3) Mr(m3)

�$ �

Sr( )=�
RS6=10.0×Sr=� (0.0 RS6 9.0)  

A Pie
PIe =(M-Mr)/(AF×Mc)= 1.5 0.5 PIe 1.5 
B PIb

ri yi ri× yi
0.04
0.02
0.04
0.04
0.03
0.02
0.03

-
�	������>��

PIb=1.0-�
���1-�2= 1 PIb 0.0 
C PId

(Xi) 100% 100%

(Zi) CWR×0.08 CSER×0.04 0.46 0.15 - 

Xi × Zi ×= 0.02 0.046

?���@����J�� 0.066

PId=1.0-�2-	�
��?= 0.34 PId 0.0 
D PIa
PIa=1.0–���3i) = 0.32 PIa 0.2

PI=PIe+PIb+PId+PIa-�� 3.16 

RS6=13.13× (3.30-PI)/3.30 +1.5=2.03 (0.0 RS6 9.0)



( ) 

1. 2 6
3

2.

( )

( )

1.
150
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_
P _ R _

Ar _ Ns _

a 3
b 1
c 1

d _

e 3

f _

WI=a+b+c+d+e+f= 8

A Ws

Wr = R × Ar × P = _
_

(Ws Wr Wd  
) 

Ws =

*&���\��= _

B Wt

Wf 
( /(m2. ))

Af Nf(m2)
Wt ( / )

� _ _ _ _ _ 

C Rc = Ws ÷ Wt = _% 

D VS = 150m³ VC = 120m³

WI=a+b+c+d+e+f= 8 

RS8=2.50×(WI-2.0)/2.0+1.5= (1.5 RS8 9.0) 



 

( ) 

1.

 ( )

1.

2.

3. 1

4.

5.

 



 

99 10 12 0990007260

18

49.96 ( ) 2012
(48 RS 58) 

EEWH-RS

^ BDc= BD= RS1=
^ TCO2c=101635 TCO2=209268 RS2=8.72
^ ���0.18 ��0.76 RS3=9

^

`*l�� `*l���
EEV=0.8 EEVc=0.80   

^ ^
^

0.80 EEV=0.8 RS41=2
3.0 Uaw=2.75 RS42=2.19
5.5 Uaf=3.29 RS43=3.19
0.80 EAC=0.8 RS44=1.5
0.70 EL=0.7 RS45=1.5

RS46=2.39
^ CO2 0.82 CCO2=0.66 RS5=5.38
^ 3.3 PI=3.16 RS6=2.03
^ 60.0 IE= RS7=

^
2.00 WI=9 RS8=8
Rc=5% 5% ^ ^
Vs=150m³ Vc=130 m³ ^ ^

^ ( ) ^ ^
10.0 Gi=14 RS9=3.56

\o��\o��49.46

20 RS 37 37 RS 45 45 RS 53 53 RS 64 64 RS

18 RS 34 34 RS 41 41 RS 48 48 RS 58 58 RS
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1.  1. 2.  
3. 4.  

� 2.  EAC=0.7 

3.  1.  
2.  

4.  

1.  
2. 6mm U
4.1W/m2K  
3.  

� 

CO2  
 CO2   � 
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